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Determine whether given matrices in each case are inverses of each other or not.  

 

1. 𝑨 = [
𝟕 −𝟒
−𝟓 𝟑

] and 𝑩 = [
𝟑 𝟒
𝟓 𝟕

]  

 

      

2. 𝑨 = [
𝟑 𝟐
𝟒 𝟏

] and 𝑩 = [
𝟏 𝟐
𝟒 𝟑

]  
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Answers 

Determine whether given matrices in each case are inverses of each other or not. 

1. 𝑨 = [
𝟕 −𝟒
−𝟓 𝟑

] and 𝑩 = [
𝟑 𝟒
𝟓 𝟕

]  

 

     𝑨𝑩 = [
𝟕(𝟑) + (−𝟒)(𝟓) 𝟕(𝟒) + (−𝟒)(𝟕)

−𝟓(𝟑) + 𝟑(𝟓) −𝟓(𝟒) + 𝟑(𝟕)
]   

 

       𝑨𝑩 = [
𝟐𝟏 − 𝟐𝟎 𝟐𝟖 − 𝟐𝟖
−𝟏𝟓 + 𝟏𝟓 −𝟐𝟎 + 𝟐𝟏

] = [
𝟏 𝟎
𝟎 𝟏

]  

 

      𝑩𝑨 = [
𝟑(𝟕) + 𝟒(−𝟓) 𝟑(−𝟒) + 𝟒(𝟑)

𝟓(𝟕) + 𝟕(−𝟓) 𝟓(−𝟒) + 𝟕(𝟑)
]   

 

       𝑩𝑨 = [
𝟐𝟏 − 𝟐𝟎 −𝟏𝟐 + 𝟏𝟐
𝟑𝟓 − 𝟑𝟓 −𝟐𝟎 + 𝟐𝟏

] = [
𝟏 𝟎
𝟎 𝟏

]  

 

       Since 𝑨𝑩 = 𝑩𝑨 = 𝑰  

 

      → 𝑨 and 𝑩 are inverses of each other. 

2. 𝑨 = [
𝟑 𝟐
𝟒 𝟏

] and 𝑩 = [
𝟏 𝟐
𝟒 𝟑

]  

 

     𝑨𝑩 = [
𝟑(𝟏) + 𝟐(𝟒) 𝟑(𝟐) + 𝟐(𝟑)

𝟒(𝟏) + 𝟏(𝟒) 𝟒(𝟐) + 𝟏(𝟑)
]   

 

     𝑨𝑩 = [
𝟑 + 𝟖 𝟔 + 𝟔
𝟒 + 𝟒 𝟖 + 𝟑

] = [
𝟏𝟏 𝟏𝟐
𝟏𝟐 𝟏𝟏

]  

 

      𝑩𝑨 = [
𝟏(𝟑) + 𝟐(𝟐) 𝟏(𝟐) + 𝟐(𝟏)

𝟒(𝟑) + 𝟑(𝟒) 𝟒(𝟐) + 𝟑(𝟏)
]   

 

       𝑩𝑨 = [
𝟑 + 𝟒 𝟐 + 𝟐

𝟏𝟐 + 𝟏𝟐 𝟔 + 𝟑
] = [

𝟕 𝟒
𝟐𝟒 𝟗

]  

 

       Since 𝑨𝑩 ≠ 𝑩𝑨 ≠ 𝑰  

 

      → 𝑨 and 𝑩 are not the inverses of each other. 

 


